12.07 Identifying a redox reaction

. Which balanced equation represents a redox reaction?
A) Mg + Cly — MgCl,

B) CaO + Hy0 — Ca(OH)2

C) HNOj3 + NaOH — NaNOjs + H,O

D) NaCl + AgNO3 — AgCl + NaNOg

. Which equation represents an oxidation-reduction
reaction?

A) H" + OH™ — H,0

B) $°U — §'Th + 3He

C) Zn + Sn*t — Zn?t 4+ Sn?t

D) 3AgNO; + LisPO;, — AgyPO; + 3LiNOs

. Which balanced equation represents an
oxidation-reduction reaction?

A) Ba(NO3)2+ Na2SO4 —BaSO4 + 2NaNO3
B) H3PO4 + 3KOH —K3PO4+ 3H20

C) Fe(s) + S(s) ->FeS(s)

D) NH3(g) + HCI(g) -NH4ClI(s)

. Which balanced equation represents a redox reaction?

A) AgNOs(aq) + NaCl(aq) — AgCI(s) + NaNO3
(aq)

B) H2CO3(aq) — H20(¢) + CO2(g)

C) NaOH(aq) + HCl(aq) — NaCl(aq) + H20(¢)

D) Mg(s) + 2HCl(aq) — MgClz(aq) + Ha(g)

. Which balanced equation represents a redox reaction?

A) PCls — PCly + Cl

B) KOH + HCI — KCl + H,0

C) LiBr — Li* + Br~

D) Ca?t +S0,4 2~ — CaSOy4

. Which equation represents an oxidation- reduction
reaction?

A) CH4 +202 — CO2 + 2H20

B) H2SO4 + Ca(OH)2 — CaSO4 + 2H20

C) MgCrO4 + BaCl2 — MgCl2 + BaCrO4

D) Zn(NO3)2 + Na2CO3 — 2NaNO3 + ZnCO3
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In which reaction are electrons transferred from one
reactant to another reactant?

A) 2Ca(s) + O2 (g) —» 2Ca0(s)

B) AgNOs (aq) + KCl(aq) —
AgCl(s) + KNO3 (aq)

C) HCl(aq) + NaOH(aq) —»
NaCl(aq) + H20(¢)

D) H30" (aq) + OH- (aq) —» 2H20(¢)

. Which balanced equation represents a redox reaction?

A) AgNOs + NaCl — AgCl + NaNO3
B) BaCl2 +K2CO3 — BaCO3 +2KCl
C) CuO +CO —» Cu+CO2

D) HCIl + KOH — KC1+ H20

. Which reaction is an example of an

oxidation-reduction reaction?

A) AgNOs + KI —> Agl + KNOs

B) Cu+2 AgNOs — Cu(NO3)2+2 Ag
C) 2 KOH + H2S04 — K2S04 + 2 H20
D) Ba(OH): + 2 HCl — BaClz2 + 2 H20

. Which reaction is an example of
oxidation-reduction?

A) KOH + HCI — KCI1 + H20

B) 2KCl - 2K +Cl2

C) BaCl2 + K2SO4 — 2 KC1 + BaSOs4
D) KCl+ AgNO3 — AgCl + KNO3

In the reaction:

2 CrO4*(aq) + 2 H'(aq) —»
CnO721(aq) + H20(¢),

the oxidation number of chromium

A) decreases B) increases
C) remains the same

Which equation represents an oxidation-reduction
reaction?

A) HCl + KOH — KCI1 + H20

B) 4 HCI + MnO2 — MnCl2 + 2 H20 + Cl2
C) 2 HCI + CaCO3 — CaCl2 + H20 + CO2
D) 2 HC1 + FeS — FeCl2 + H2S
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Which is a redox reaction?

A) H* +Cl- —» HCI

B) NaOH + HCIl — NaCl + H20

C) Fe +2 HCI — FeCl2 + H2

D) MgO + H2S04 — MgS04 + H20

Which is a redox reaction?

A) BaZ" + SO4% — BaSO4
B) H* + OH- —» H20

C) Sn® + Sn*" — 2 Sn2*
D) H* + NH3 — NH4*

Which is a redox reaction?

A) 2KBr+F2 - 2KF + Bn.

B) 2 HCI + Mg(OH)2 — 2 HOH + MgCl2

C) 2 NaCl + H2SO4 — Na2S04 + 2 HCI

D) Ca(OH)2 + Pb(NO3)2 — Ca(NO3)2 + Pb(OH)2

Which equation represents a redox reaction?

A) MgO + H20 ->Mg(OH):
B) FeS +2 HCl —»FeCl2 + H2S
C) Zn + CuSO4 —ZnSO4 + Cu
D) 203 5302

Which equation represents a redox reaction?

A) SO2 + H20 — H2S0:3

B) SO32-+2 H* + —» H2S03
C) O2+2H2 » 2 H20

D) OH + H* — H20
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Which is a redox reaction?

A) Mg +2 HCl — MgCl2 + H2

B) Mg(OH)2 + 2 HCl — MgClz + 2 H20
C) Mg?*(aq) +2 OH(aq) - Mg(OH)2
D) MgClz2 + 6 H2O — MgCl2+6 H20
Given the equations 4, B, C, and D:

(4) AgNOs + NaCl — AgCl + NaNOs (B) CL + H

20 — HCIO + HCI
(€) CuO +CO - CO2+ Cu
(D) NaOH + HCI — NaCl + H20

Which two equations represent redox reactions?

A) A and B B) Band C
C) Cand 4 D) D and B

Which equation represents a redox reaction?

A) 2 Nat + S — Na2S

B) H" + C2H302- — HC2H302

C) NH3 + H* + CI- —» NH4* + Cl

D) Cu + 2Ag" + 2NO3~ — 2Ag + Cu?" +
2 NO3~




